PROFESSIONAL EXAMINATION BOARD

Police Recruitment Test : 2016
13th September 2016, 02:00 PM

Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

I'm busy at the moment _______ you call back later?
®* can
* must
* might
* should
Correct Answer :-can
2)
Question Stimulus :-

Fill in the blank with the correct option.

Excuse me, I just say something?
e could
* might
* dare
®* must
Correct Answer :-could
3)
Question Stimulus :-

Fill in the blank with the correct option.

If you were offered an overseas posting, you take it?

* might



®* must

* mustn’t

e would
Correct Answer :-would
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Her novels have been translated ____ 19 languages.
* into
e beyond
e by
o off
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

Running is an excellent way toburn_____ excess calories.
e by
* into
* for
o off
Correct Answer :-off
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

The children go to bed nine o'clock.



e at

® oOn

® in

e with
Correct Answer :-at
7)
Question Stimulus :-

Fill in the blank with the correct prepositions.

She's sitting____the table_______ the corner.
e at, in
* on, from
® in, on
¢ within, off
Correct Answer :-at, in
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® While climbing the hill, to his amazement,
® the shepherd found
¢ the box of pearls.
®* No error
Correct Answer :-the box of pearls.
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Akbar became a heir

® to the throne

e at a young age of thirteen.

®* No error
Correct Answer :-Akbar became a heir
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Due to its natural beauty

® Kashmir is known as

* Switzerland of India.

* No error
Correct Answer :-Switzerland of India.
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I had accepted that promotion,
* I would have been

* working in Milan today.

®* No error

Correct Answer :-No error

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e By the time I reached
e the theatre,
® the show had started.
®* No error
Correct Answer :-No error
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* My maternal uncle

¢ has been living in Delhi

* since five years.

®* No error.
Correct Answer :-since five years.
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If he will prepare a little more,
e he will definitely clear
e the first round of competition.

¢ No error



Correct Answer :-If he will prepare a little more,

15)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
e If he forget to pay his rent,
¢ his landlady would
* send him a reminder.
®* No error
Correct Answer :-If he forget to pay his rent,
16)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

They said, "We've lived here for a long time".

e They said that they had lived there for a long time.

®* They said that they were living here for a long time.

* They said that they were living there for a long time.

* They said that they have been living here for a long time.
Correct Answer :-They said that they had lived there for a long time.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The Principal told the Children, “wait here till I return”.
e The Principal told the Children to wait here till I return.

®* The Principal told the Children to wait there till he returns.



®* The Principal told the Children to wait here till he returned.

¢ The Principal told the Children to wait there till he returned.
Correct Answer :-The Principal told the Children to wait there till he returned.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the students, “If you do your best you will surely pass”.

e The teacher told the students that If they do their best they will surely pass.

The teacher told the students that If they did their best they will surely pass.

The teacher told the students that If they had done their best they would surely
pass.

The teacher told the students that If they did their best they would surely pass.

Correct Answer :-The teacher told the students that If they did their best they would
surely pass.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Why did your father refuse to give you money?
e Why were the money refused to be given to you by your father.
e Why had the money been refused to be given to you by your father.
e Why was the money being refused to be given to you by your father.
e Why was the money refused to be given to you by your father.
Correct Answer :-Why was the money refused to be given to you by your father.

20)

Question Stimulus :-



Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The minister had already informed his cabinet about his decision.
* His cabinet had already been informed about his decision by the minister.
e His cabinet has already been informed about his decision by the minister.
e His cabinet have already been informed about his decision by the minister.
® His cabinet is already being informed about his decision by the minister.

Correct Answer :-His cabinet had already been informed about his decision by the
minister.

21)
Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are your parents expected to come today from Hyderabad?
* Do you expect your parents to come from Hyderabad today?
* Did you expect your parents to come from Hyderabad today?
e Have you expected your parents to come from Hyderabad today?
e Were you expecting your parents to come from Hyderabad today?
Correct Answer :-Do you expect your parents to come from Hyderabad today?

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
* Please give me a glass of water and an ice cube.
* Please give me an glass of water and a ice cube.
* Please give me the glass of water and a ice cube.
* Please give me a glass of water and a ice cube.

Correct Answer :-Please give me a glass of water and an ice cube.



23)
Question Stimulus :-
Fill in the blank with the correct option.

My friend has lent me books and notes for my half-yearly exams.
°* few
* afew
* the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.

My father always keeps aside money for an emergency.

o little
* a little
® the little
* afew
Correct Answer :-a little
25)
Question Stimulus :-
Fill in the blank with the correct option.

He has invited friends tonight for dinner.
°* few
* afew
® the few

e a little



Correct Answer :-a few

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person'’s lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

What is the meaning of the word ‘injurious’?
® beneficial
e complementary
* harmful
* essential
Correct Answer :-harmful

27)

Question Stimulus :-



DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person’'s lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative

feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

Why is a smoker more prone to diseases as compared to a non-smoker?
e Because of heredity
* Because of lower resistance and a weak immune system
e Because of weak digestive system

® None of the above

Correct Answer :-Because of lower resistance and a weak immune system

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.



Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person'’s lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

“The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start”, what does the word ‘counter’ suggest here?

®* To have an affinity for something

* To react to something with an opposing opinion or action, or to defend yourself
against something

®* To offer something in exchange

e None of the above

Correct Answer :-To react to something with an opposing opinion or action, or to
defend yourself against something

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity



system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person'’s lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

What is the meaning of the word ‘nausea’?
®* Total unconsciousness
* A feeling of sickness with an inclination to vomit
e A type of brain fever

® None of the above

Correct Answer :-A feeling of sickness with an inclination to vomit

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non-smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person'’s lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to



rapid heartbeat and shortage of breath. There are also many other day-to-day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

Why is smoking hazardous to health?
e It causes Lung and throat cancer
e It can cause many heart and lung diseases
e Smoking weakens the immune system and can lead to bronchitis and pneumonia
* All of the above
Correct Answer :-All of the above

Topic:- Hindi
1)

Question Stimulus :-

fFrafafaa e $ wFyde tes 39 i A T agfawad uxAl § Odt fawer &1 9 #¢)

T FUR X $! THT U 99 B! 71 39 SR YA 8Md W aRE1E 81 I3 &1 7= HA aral &1 Sha 3ieq
BT 81 JST-TERTST 3R gidl-avf ¥ & ARY I ITH1F TF & AT G BT IYANT B I 31 T&l I g 4
ST & 9 gl HRA RIS iR HerHat! S A shtaq 3t R o ™ @ 79 v & e gu et
STTT| 98 I B AR T U &I GET YT B @t R dR-fR JRU™ v so= =1 ) ufkomaa: gRo=
DI YIS AP GRS TUT SHIa- P g MY AT S T IRTE DY IR & A€ B01 A a1 98 & Smagwor
B 39 31 T PIg RIS Ao e 3Tl | 3t IR 7 JeT UM W 98 °fedr IR N gaaies ugd oar gl

39 T # 5w @) ST T 22
o I
o gHERY
o M
o T
Correct Answer :-931

2)



Question Stimulus :-

fFrafafeaa e $ wrgde tes 3P il T agfawad uxAl § wdt fawer &1 7 B¢

wmé‘aaﬁmm gﬂ»“rl TIPS PR YA 3FF W aRE1G 81 Ig &1 7= HIA aral &1 g 3ieq
BIAT 81 S-AERTST X siar-atf giY & muﬁmh%ﬂwmwm@?luﬁmﬁuh
ST & di9 mn??ﬂunﬂ'q'aﬁ?nwﬁmﬁﬁﬂaﬂa%ﬁwaﬁ?m U H & fog g ot
ST 98 AR B A<l & 30 B AT gHT FA T 3R fR-efR IR v saw= 791 w41 afkomaa: gruE
DI AP AP RIS TUT SHa- P (¢ MY AT S T IRTE B IR & g B01 A a1 988 & Smagwor
P 3T A | PIg RIS ToR 81 3Tl =S TWE T T UM WR 98 "fear IR fiew gweie ugd S gl

& 3 RT3 |l U

* T HH F1 & fou

e AR-Ule & forg

o fim 7 & g

o f@m & forg
Correct Answer :-TH &H &1 & fau
3)

Question Stimulus :-

Frafafad e $ wFgde teH 3P i il T agfawedt uAl § O6t fdwer &1 9a 3¢

P! g1 TIPS DR YiAfeT 3T W TRE1G §f I3 &1 7= B dTdl T Sia e
g & ARY A ISP 9 & A4 G HT STUNT B 7@ &1 T8 Ao g Uy
ST & o |umﬁunﬂaaﬁ?nmﬁmﬁﬁﬂa=raﬂﬁwmaﬁvmaﬁ TH FH & T O &t
SR 98 ﬁﬁﬁﬁﬁg@ﬁ%ﬁ@ﬁﬁ-ﬁ@ﬁ@ﬁﬁﬂlmw
B YADHY WIS RIS U1 Sfa S g =y A1 S @711 IR B IR & ¢ Bor A4 a1 911 & 3maywor
P! T ¢ | DIg G5 ToR 81 ATl St TR T T UH WX 98 "fedr IR fiaw auedie ugd St gl

"fear IR1E THR A1 Hl ugd o 82
* W
* gHAID

® JMHATYTY

® Jdrel



Correct Answer :-gqdl®

4)
Question Stimulus :-

fFrafafaa T ®1 waFgde ggar 30 A fid T sgfaeed yal | w8 fieew o1 999 oY)

9 9@ 81 3P BRI Yfafed sF® R RAG I W@ 8
FHAT 31 JIST-AGRTSHT SR didT-avf Yi¥ & ARY & IS U & ATd Y1 BT SUANT Hd 38 51 Tat
ST & fH g URA TS iR georHatf S A shaq $t R i ™ @ $0 w1 & e gu a6t
S| 98 I B AxA T e &) GHT 3T H3A @t 3R - JRU™ v so= 991 ) ufkonaa: gRum
DI AP AHTID RIS TUT SHa- P (¢ ST AT S TN IRTE B IRTT & A€ Ho1 a7 a1 988 & Smagwor
P IT A | BIg RS o 81 3Tl =St W 7 9T YA WR a8 "fedr IR fiaw awele ugd ST gl

z
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3
:
g
3
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° ¥
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° g
Correct Answer :-31
5)

Question Stimulus :-

fFrafafaa ez 3t wFgde TeH 3P i il T agfawad uAl § Odt fawer &1 9u B¢

=M §UR O B T FURT 891 gol 81 39 SR Ufafe 3A® R ava1g 81 @ &1 M B 9Tl &7 ofta 3ieq
BT 1 IAST-AGRTST 3R HiaT-awf Yi¥ & MRY A ITHT TT F A1 YT BT ITIANT I I 71 Tt A1y 4
ST & 9 gl URAH RIS 3R gegat! S A shaq 3t R o ™ @ $9 v & o gu et
TR 8 T B T A U B g gUd B @t 3R fR-ofR JRuT v = 94 i uRonda: R
DI AP AP RIS TUT SHa- P g ATHMT AT = T IRTE B IR & € H01 A9 a1 98 & smagwor
B 9 1 T PIg RIS Ao T 3Tt | 3t IR 7 eI UM W 98 °fedr IR N guais ugd oar gl

T HI arell BT SHiaq ST g1 82
o gt
o g



* Y

* IRHEHAD
Correct Answer :-3[cq
6)

Question Stimulus :-

Frafafea sream # aFyde Ted 3@ A A T sglaead u=xal o I8 feen &1 5T s

gl HifPpar 7Y, o1 € AR T |
PIA-PIA Dle, YAR PT YT US|
wierat WY srufeh, freh € dew-ga A1
3 U1, I g, [P § T Ferd 1|
TRAE-8 WRRT SR1-|T1 &1 UST 2
gl U8 WRT 9° G ¥ 471 UsT 21|
313t firg wgRmen fooeg X & =M
g g XMS-VIF T8l 7d R FGHII|
1] °9d WX He 91 § 99 gar |
9 PI 3T T SSTHR A & ST
Pifpa Ma, fhg I 7 BT M|
YR F AR, HT S HYUT 1911

Ffd B A T U1 B 8T 82
* W FI ISTH d A Bt
o IR HIM FI
o iR F o FI
* TP HA Pt
Correct Answer :-i¥ & 3 $t

7)



Question Stimulus :-

il ST o AFYde e 39 A A T ggfawad uAl | 9t fieen 1 9a7 #)

gl Bifear -gl, BT6 § R Tad|
PIA-PIA Ble, YAR DT YT ST |
wfear Wt srefeh, frcht € dew-ga A1
3 U1Y, 3 g, &P § Al gad ||
URHE-EH URRT SFT-H1 91 T 21
gl U8 WRT 91T G | 91 93T gl
33t firg wermen fg v & amemi
g § XS-RIF T8l 7d R TAFII|
I °9d UR He 916 § 39 gar|
3T B 3TE | ISTHR T & AT
Pifpa M4, fhg INT I &7 M|
YAR B [OR, $T Dt A 11

Hfd S P I F IR F 31 &t urdAr F= B I8 82
* g NP BT WM 7
* TR HR W 3
o U5l PIY IR AW F
o TgI S8t a1 4w W ®
Correct Answer :-3g & &1 RIF §
8)

Question Stimulus :-

Frafafea sreaw $ aFydae Tes 3@ - &8 T sglaead u=xa o I8! fAeen &1 wa+ $31

YgI Hifpe Agl, PIP & R AA|
PIA-BTA PIe, YA $T YH SUSTA



wferal ot srufaeh, fieht § dew-ga A
3 U1, I g, P § ST Ferd 1
TRHE-E WRRT R1-|T &1 UST 3

gl 98 WRT a1 I | 941 UsT 1l
33t firg wgrmen fog Y & amemi

% 8 M-I IgT Ad AR AT

I 94 WX He 919 9 I T

3T B 318 6T SSTHR T & AT
Pifba a, g I A &7 3ma|

YAR B [OIR, BT Dt AT 11

Ffd T A Bal & A B urdAT R HR @M 32

* YZTHTE WITE P31 & g

* TR P YR 91 & forg

o I A iy A & g

* JATGRYl HI aURd 991 F forg
Correct Answer :-4GIHTd WIe B34 & foe
9)

Question Stimulus :-

FafafEa o= & aFYds TeHr I A A T gl uwl ° 98 e o1 994 $¢)

gl Pifber IEl, BTb & TR TA |
PIA-PTA DI, YA DT YH IUTA ||
wfeal Wt srufEeh, el § Few-ga A1
3 41d, 3 g, & § At gad ||
TRAT-EH TRFT GRT-91 1 ST 31

gl 98 WRT a1 G & 941 UST g1
33t firg warmen g v & amemi



g ¢ MH-TIH Jgl 7d AR T
I 94 WX He 91 9 I T
T B 31§ | SSTHR T o AT
Fifpa Ma, fhg I I B7 M|
YR B UR, HT S HYUT 1A 11

AT G A I AT g3 82
o et 7w & ge A T
o 3% QN P Yo b °IE IART AT ?
o el veft 3t gem At 7 R
* IWe Tt

Correct Answer :-3R® @7 I g & UTe SART 7471

10)

Question Stimulus :-

Fafafaa o @ aFyds TgHr I A A T gl uxAl ° 98 e o1 999 +¢)

gl Pifpdl 81, HTP ¢ AR FA|
PIA-PIA Ble, YA ST HH ST |
wfear W rf@eh, frcht € dew-ga A1
3 41d, 3 g, T § 3ral gad ||
TRAT-E URFT GRT-91 1 ST 3
gl I8 WRT 99 G A 471 uST 211
3Tt firg wgrmen fog € & am=mi
g ¥ NH-IE IgT Ad R HAH |
I °d IR He 916 | S gar|
9 DI 3T T SSTHY A & ST
Pifdbd T4, fohg I A7 BT 31|
YR B OIR, $T P! HYUT G911



FTA F g uge Miw 32
* B
e SfRRraTaren 1T § S
* WRI I4d
o B3 P yrdr
Correct Answer :-iferrarar a7T § a¥d

11)

Question Stimulus :-
P ¥ iR U A T g AL B-

* 3RpfaE
* JAMR
® JYBHRI
o gyfaRur
Correct Answer :-3U&HRI

12)

Question Stimulus :-

o e B faaEnde s9M & fore fa Iuwt &1 wai S
o
* g
° 3
°?
Correct Answer :-3f
13)

Question Stimulus :-

U SrST STdT 8-



* g P URY H
o & P 3d H
* P HA H
o T A K T
Correct Answer -3 & 3id d

14)

Question Stimulus :-
=t ¥ pa wTl A J= Bt 22
* SiEIRH
o
o AR
° TuH
Correct Answer :-3igisd

15)

Question Stimulus :-
RSt BT IR’ gerar b1 aat o -
* IR BT ATATT HIAT
o TP B
o HUl AT T {0
o T A PIS TR
Correct Answer :-%4! ATE 7 g1

16)

Question Stimulus :-
“ORT deT MY A 3G BT aRT 317 YGifhd ggraw &1 o 3-

* TEd IR



* 9ga FSHAM
e 5ga fi
® dgd JHLAGR
Correct Answer :-3gd g

17)

Question Stimulus :-
“SITd H TR A16 | gH $ &d 31" Y@ifhd Jeraw a1 o 3-
o i T &
o I T
* FEd RN HAT
° El'g{q'UTaﬁ'lTv'-lT
Correct Answer :-3gd TR B0

18)

Question Stimulus :-
f&d M areiw & forg ue e @1 AT Sifore-
fRiv sTae g ux o foeelt safdd &1 Iwrae var yfauriea fear ST &

o AU

o gRaua

* TAquA

* T A FIE T
Correct Answer :-33qu3

19)

Question Stimulus :-

f&d M e & foQ U s o1 wAT Hifee-
WA U 3T gg F J|T

* TgIAAfd



Correct Answer :-ufdwgt

20)

Question Stimulus :-

39 ufed | pi9-a1 9 B

“GRIPUS ¥ WS BIfS § 86, IR R 7 difed|
3T 3T ISTHATS | ge, |1 = = s

* g

Correct Answer :-fifasr

21)

Question Stimulus :-
= wfaa A wawo=g o3 &1 Gaura FafafEa & F e fsar an
* SUYH UG
o AR TE
o Jptent Rig Sutear gRafty’
o gdpid HAurdt fFrrer
Correct Answer :-gd&id FAurdt fArmar

22)

Question Stimulus :-

3 A Haferal, i @) ford S ardr T U o Joit & 3rar g
* HMUR®



* WPRI
o WIS
o JUTGH & T
Correct Answer :-9MTfo®

23)

Question Stimulus :-
o A 3 T &1 Tge -
* 3=
. s
® ST
* 3TRIPI
Correct Answer :-3T2i®1

24)

Question Stimulus :-

& & s ad= &1 TgT Bifme-
. &
* IS
+ S
o JUHD
Correct Answer :-3Fdd®
25)

Question Stimulus :-

weaT o S &Yy 82
o Udf yuTE
o ufift uee



. ST
* HIPU
Correct Answer :-uf3ft deme
26)
Question Stimulus :-
faza ® oo fFa-it UG w=Tar U 82
* 400
* 2796
* 178
* 179
Correct Answer :-2796
27)

Question Stimulus :-

g & @ aee’ &1 vafaar T8 2-

* YIAH
Correct Answer :-{d-al
28)
Question Stimulus :-
‘grama B ¥ 9 fFaer vafgard 8-
e gSaFd
o FAgARH

® 3Ad



o @
Correct Answer :-g4gdiRH
29)

Question Stimulus :-

“ehaT’ BT ToqH TS 8

® Ihard

® Ihald

o T

o T | BIg TH
Correct Answer :-g%dl®
30)
Question Stimulus :-
D’ BT Tgd UG ¢

e TR

* U

o T

* Tl
Correct Answer :-¥d1
31)

Question Stimulus :-

WR i BT ISERUT HIH-AT 82
o arfly
o fATR



Correct Answer :-3d&x

32)

Question Stimulus :-
‘I weg | T quit 3t 6fY g8 72
® T+
* 3+3
* 54U
o 3+3
Correct Answer :-s+3f

33)
Question Stimulus :-
ISR BT Wl faede B

* Jq+ERUT

o I+ 30T

o I+

* IZ+I
Correct Answer :-3Jq+&0l
34)
Question Stimulus :-
fra fafaa 6 arei=n & & wyw 9 siftw Fif¥a §, v ot Shua v A wafRa i)
(1) M geefier™T |
(T) HTHAT HA 14 FOgE
(X) S@aron & 9 § Fguh
(W) TRe 3 Rree g &
(@) ‘wFE’ ¥ faza et 3t
(6) @1 4l



e IUT
e gAY
e gYAX
e gHETT
Correct Answer -39 @<

35)

Question Stimulus :-

o fafea 6 arexi=n # & yyw g sifaw Fif¥a g, v o1 Sfua v & srafum Fifvm)
(1) YR ¥ g&ul 3R et 91
@ e
() oitwd omg o =it
() IUH Y= AR
(@) e § fhg
(6) @t @l & W afZgs 2
e Igdd
e IdYd
e dggr
® dv¥ 4y
Correct Answer :-¥94dd@

36)

Question Stimulus :-
“&-% PRI A arel, W ge Aifas & Aranr”
Sudaa ufdmal # S AT PR 82



o Iaam
Correct Answer :-3aiaf
37)
Question Stimulus :-
“UTHY HETR ¢ $I, T a1 33|
fpe fisy = wgTad, RSt frsfa w11~
Iuded g # $IF AT PR 82

o IAGT

o IUAT

o yifowT

. W
Correct Answer :-yifaq™
38)

Question Stimulus :-
fra § § g arey sifew -
o A9-¢ g1 Raret @ 8w @I
o T Raret § A7-37 e I
o TRV BT A-oH 1 Rar g1
* TF-aT I © <ol Pl
Correct Answer :-gg9 &7 d-a4 g1 Rara g1

39)
Question Stimulus :-
a # ¥ s a1y Bifey -

° g7 HaH YR A

o gu i wgd A

o guA Uz feram



* U HTH YaxaH T
Correct Answer :-gq 989 gezad @il
40)
Question Stimulus :-
g areair $1 &Y Hfe-
AT # TR §, e 8 3R areR d IRom +t &, fbg

GEK:|
Tad T AfT 8- 371 e | Rt F R TS0 IdTed giar

Ut & SR G I SFET 71 SHBT T

¥a Y ST 81 ST 3% 99 § IHT 3R I S I5dl 81 3R A A =l & & al B A s wm i

A T I 3
o foRTEN VIS FH B
o TR G A R HN |7 BI
* gl d1E JEl W%
o T A B T
Correct Answer :-Sigl 918 981 36

41)

Question Stimulus :-

30 | F-971 fipew a1t A+l e & 7ff @= e @ 2
* grETd
« Tqm
° U
* I
Correct Answer :-a@ma

42)

Question Stimulus :-

e & @ =il 2reg ®1 BT e 2-
° T

* ™



° g'{.'zﬁ
o &I
Correct Answer :-3f&iQ

43)

Question Stimulus :-
Sy & g e =g ghm-
o foow
o e
* SH
o T 9§ TS T
Correct Answer :-398 ¥ $I5 T8l

44)

Question Stimulus :-

‘S’ 1 fadm §79 4 78 -

o Iuded i faew @

Correct Answer :-&a-1g

45)

Question Stimulus :-

fa & 9 o e § fovm Rig o1 9 SUA g 3, IHST 99 Hifg-
e rdi; g o W A A
e i g o W AA H
e Ul gc o1, W IHA A1



o UTf-ge-om: AY WA |
Correct Answer :-urdi! ¢ &1 &% 90 |
46)
Question Stimulus :-
PTH BT IR 8-
* ITPR
* I
* Bq
* ICPR+Tq
Correct Answer :-3T®R

47)

Question Stimulus :-
‘B’ AP AAdIFal AR UG A a1 SR 8-
o T T
o Jmart 3
e PTG TN
o Hfdga
Correct Answer :-%fd ¢d

48)

Question Stimulus :-

Haiie U IRIEH 8-
* Tepifad

°* IMEPR



Correct Answer -39
49)
Question Stimulus :-
“HFE 9 & dW@® BT A1 T 32
* SURP UG
. fwg
* TEIER TS feddt
* A AR
Correct Answer :-3{ddrd AR

50)

Question Stimulus :-

“ggY PT Hier” AHS HEH & FEFIPR DI 52
* PUEXR
o dgu¥ Tl Tert
o HYf Jwdx
* HEIH
Correct Answer :-3gux I et

51)

Question Stimulus :-
TS Ufe fow weR | Hafla § 2

o fafd=m
o foufyar
o Yqam
o el

Correct Answer :-fugfyar



52)

Question Stimulus :-
4 uge &1 wEt I AT -
vgRAT & T sHTe® anRt, B &l g8 WS antI”

* &R
* WA
o ARY
* STAIgERT
Correct Answer :-A1aa

53)

Question Stimulus :-
e ugelt ®1 wet SwR 9T -
&8t e 9RE U, 7 91 U @ 9f | ys1”

* TR
o Tl
o ymrinf
* TR
Correct Answer -9l

54)
Question Stimulus :-
‘3Nl BT P qa-il fIzawor ghm-

® 3N++3M+T+T+3

® 3M+T+3M+F+T+3

® 3+ +3A+F+T+3

® 3+ +A+F+T+5



Correct Answer :-3+S+3+J+T+35
55)
Question Stimulus :-
“q, W, §, H, H ” I 8-
* AT e &
* HS AT D
o 3INTSY ATH &
o dited I &
Correct Answer :-3isg &ei< &

56)

Question Stimulus :-
7 & & 5 tp g wHia ©, 997 ifve-
® J3qUd-3fi
* ITAR-3IEY
o IET-3Ifa
o 3FUR- ATUT
Correct Answer :-3Fd-3ifd

57)

Question Stimulus :-
e U & weg-gm & erdf-vig # | B 91 e 732

* JAA-Id = dAGH-foraA®! ga-T - g AP
o IER-3FPR = R gemur T8 srar-3i
* -3 = IATA-GRT
* JIe-3dG = HHA-TUSAl
Correct Answer :-3sd-3{d¢ = HHA-TIol

58)



Question Stimulus :-

o d @ iR weg & gudf W B 99T Fifoe-
o Juifad
* JaTGUTA
* I
o ufeq
Correct Answer :-dyifad

59)

Question Stimulus :-
Frafafad areg d @ Y@ifed us & guArlf s &1 999 Fifore-
“I@HT IRKR S &1 T8 Wee &1 51 g3m g1
* YTl
* TRR
* uUig
o W@
Correct Answer :-sdrd

60)

Question Stimulus :-

6 9U P 9g! 9IS Ug gHe-
o Yyt

Correct Answer :-fearifx

61)



Question Stimulus :-
fFrafafed o<l # FHYRT IA $T ISEI0T T8 8-

* RWI-Pai

Correct Answer :-pH1-BHail

62)
Question Stimulus :-
fFafafea & 3 ve wg ¥ 37 99T 8, 39 g BT 99 Pifore-
e iR
o &
o TEYEY
o 3roftad
Correct Answer :-9al
63)

Question Stimulus :-

o ot & € fiy oy 31 9949 Sifore-
o #HA @ @
* M FT WF HRI T41I
* BT I dle T
o ¥ dmgdl § & R I1Y Q@G|
Correct Answer :-# dmgdT § fo R 914 A9

64)
Question Stimulus :-

“fig FgeR 1% FRdl 82 | HIH-9T 9T enT-



. waa

o FHHaTA

* HTgard

o T A I T
Correct Answer :-HHarA
65)

Question Stimulus :-

‘Postponement’ X1eg &1 3 B -

* URH

* TPH

* AT

o T A B
Correct Answer -1
66)
Question Stimulus :-
‘Gist’ ¥g H1 3¢ &-

o ymardf

o 3

o gk

o zregrd
Correct Answer :-H1ard

67)

Question Stimulus :-

‘HEl B E¢ B! BT ST, UIFATT I F1aT ST DI 1 T o 82
o JMAEH | g9 ®I1s Ht w1t T8 B IHA |



o uRfRufq Tar T 4t el el
o Tt Al wH G IR
* P TAAT TEI, FLR-SUR | A DR P13 Wl dIR BT
Correct Answer :-®Is Td=dT 78], SIR-3UR A T AP BIg TSl dIR BT

68)

Question Stimulus :-

‘THT T Y& APT I8 ST AipiiaT &1 ar of 82
o JUHIAT ST
o IHHYAT UHC HIAT
o f¥far g
o sl g
Correct Answer :-3if¥ar g1

69)
Question Stimulus :-

‘T & &1 U1, g A sraren Aeifea o1 wm i § 2
o IMIG B TR | i & &= TRy
o dguH NS & THg & A a7 wiar @
o fafy Sarer TET @
o Ry F 0 wHg § § Td@ S ARY
Correct Answer :-3ifafy & 9 9977 # § 9a ST =1fee

70)

Question Stimulus :-

=<t & yyw fa wAeR §-
o TuTe THT

* PURMH



o fEmufa
® Yo
Correct Answer :-fagmufa

Topic:- General Knowledge
1)

Question Stimulus :-

Which among the following is not a source of a non-conventional energy? / Fafafaa # Qo= TP IRURT
St &1 Ald T8 82

® Petroleum Energy / ﬂaﬁmru St
® Wind Energy / dIg St

® Solar Energy / IR St
® Tidal Energy / SR St

Correct Answer :-Petroleum Energy / Ugiferad Satf

2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / 7% &1

g iR 4 3T T PISt & YR W FET IWR BT 99 BY:
List-I List-1I

1. Bihar a. Shimla

2. West Bengal b. Hyderabad

3. Andhra Pradesh c. Kolkata

4

. Himachal Pradesh d. Patna

gfa-1 gfa-11
1. fagR a. R
2. Ufg¥ §re b. 8EIETG
3. Sfyve c. PIAdTar

4., feumea wew d. geT

® 1-d, 2-c, 3-b, 4-a



® 1-d, 2-c, 3-a, 4-b

® ]-c, 2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

Find the odd one out on the basis of its eating habit. 3T W i 3Ted & YR R 7 7 fauw ﬂﬁl
® Elephant / K

® Tiger /dlY

® Rabbit / TR
® Horse / Eﬁ_\"ﬂ

Correct Answer :-Tiger / 919

4)

Question Stimulus :-

Which mirror is used as a rear view mirror in vehicles? / ﬁq 1 E'CfUT aﬁ:ﬁ o tﬁ@' aﬁﬁ' & E'd'UT & *q s | 'Q'fh"T
forar ST 82

® Plane / HHdA

® (Concave / 3ddd
® Inverted / 3¢<T
® (Convex / 3<d

Correct Answer :-Convex / 39d

5)
Question Stimulus :-

In which of the following states is Gondwana hills situated? / fad 9 foeg g | Tﬁ?:@'FIT da fRya %?
® Meghalaya/ auTed
® Orissa/ \?rﬁ'%Q'IT



e Uttar Pradesh/ 3xI¥ u%-'zr
® Madhya Pradesh/ H&] u%w

Correct Answer :-Madhya Pradesh/ A% W=T

6)
Question Stimulus :-

___is a reaction in which system absorbs energy from its surroundings. / Udh Srfferar % forad womeft sra=
Rawr & St anfd st g

e Addition reaction / T fHTeRaT

® Endothermic Reaction / AT arf¥ferar
® FElimination Reaction / 3¢+ Srfuforar

® Exothermic reaction / JSHT&UY rfUfpar

Correct Answer :-Endothermic Reaction / SSATINY 3rf¥ferar

7)
Question Stimulus :-

Rayalaseema is in which of the following states? /Wﬁ?ﬁ'ﬂT ﬁl’H 79 fpaTad %?
® Karnataka / FAlcPh
® Tamil Nadu / GfH@ATg
® Andhra Pradesh / 3{T8[ u%afr
® QOdisha / 3NSI=M
Correct Answer :-Andhra Pradesh / 3{T=[ U
8)

Question Stimulus :-

Which state of India has borders with three countries namely Nepal, Bhutan and China? / HIRd & fpa
s Bt Har A 3= srufe Aure, Yer ok A9 & |y 32

e Arunachal Pradesh / R

® Meghalaya / ATy



e West Bengal / uf3w\ e

o sikkim / fafepa
Correct Answer :-Sikkim / fafesd
9)
Question Stimulus :-

Kaziranga national park is in which State? PISIRAT ?T@'q ST fea Isa ¥ B2
® Assam/ 3IH
o sikkim / Rifdwa
® Orissa/ Gﬁ'%T{IT
® Uttarakhand / STRTES

Correct Answer :-Assam / 3dH

10)
Question Stimulus :-

What is the national bird of Bangladesh? / miﬁ ?T@TJ veft T %?
* Kingfisher/ fHTIHRR
® Cuckoos/ PFP

® Dove/&d
® Magpie Robin/ ﬁ"T‘TI% Afe=
Correct Answer :-Magpie Robin/ HITUTS A

11)
Question Stimulus :-

Who was the first Indian to win the Nobel Prize? / Ugdl CICG JdIPIR UT B aTAT RO ﬁT{
Yr?

® Sir C.V. Raman / W% dr.d. =
® Rabindranath Tagore / TAI&TY MR

® M.K.Gandhi / TH.P.TTeH



® Subramanyan Chandrasekhar / JSH-I" TERER

Correct Answer :-Rabindranath Tagore / YIS 3R

12)
Question Stimulus :-

Which country is the largest steel producer in the world? / Ay d 99 CEERICERNUGED Cack)| a'QT %?
® United States / '\‘Tﬂiﬁ oY
® Australia / a@ﬁm
® China/ 9=
® Russia / H
Correct Answer :-China / 9

13)

Question Stimulus :-

Which of the following is a tropical grassland? / frrafafed # 9 9 Swreleddy a9 &1 'a_c‘:Fl' %?
® Taiga / &
® Savannah / HdTHl
® Pampas / Ty
® Prairies / W
Correct Answer :=Savannah / HdTHl
14)

Question Stimulus :-

Dipa Karmakar became the female Indian gymnast to participate in the Olympics. / a1 HRETHR

3Nfeifue & vt o= arelt HRGg afgen e -+t
® First/ UYH
e Second / ficfta
® Third /e
® None /IS 8!



Correct Answer :-First / TYH

15)
Question Stimulus :-

Where is Barna Dam located? / SR 1Y wm %?
* Dindori/ &SI}
® Ashoknagar / MNP TR
® Barwani / ml:ﬂ
* Raisen / IAAT

Correct Answer :-Raisen / I

16)

Question Stimulus :-

AB De Villiers is associated with ? /w fefaferad feaw wefta %‘?
® Badminton / a?»'&lﬂ
® Tennis /éﬁm
* Golf / &P
® Cricket /W
Correct Answer :-Cricket / fhdre

17)

Question Stimulus :-

Deepika Kumari is associated with which sports? / CILC] m frg Qe A Jafta %?
® Squash / b IR
® Boxing / 'ﬂﬂ%ﬁ'ﬁn
® Archery / deret
® Tennis / o

Correct Answer :-Archery / d1Rgrefl



18)

Question Stimulus :-

Who has been named as the International Boxing Association (AIBA) ambassador for Women’s World
Championship from India? / HIRd & Afger {3y IR@ARNT & g sia=i$ha gasarst w9 )gaddig (i
Iroigd & fore fpd Arfra faram mam @2

® Pinki Rani/ fuest I+

® Mary Kom / 3 B

® Laishram Sarita Devi / ﬁmm fydar aﬂ

® All of the above / SURTad A+t

Correct Answer :-Mary Kom / 831 &0

19)

Question Stimulus :-

Who is the founder of Bharati Enterprises company? / YR mﬁﬁﬁ HUT P GRITUS P %?
e Sunil Mittal / g1 fira
* Vishal Gondal / fa=me s
* Naween Tewari / TdI9 fearst
* Sanjay Govil / dolg Mg
Correct Answer :-Sunil Mittal / g-tel <@

20)
Question Stimulus :-

Find the odd one out / fAYH a1 FT9 BT

Fastrack / W@ﬁ
Titan / €IgCH
Fossil / BITel

Acer / TR

Correct Answer :-Acer / T3



21)
Question Stimulus :-

Which Indian banknote has the picture of a farmer ploughing the field? / frdsHd URMT e Tew® Bd
Tard fpar o1 o sifeed 32

® Rs.5/ 5%

® Rs.10/10%

® Rs100/100 %
® Rs.500/500 %

Correct Answer :-Rs.5/ 5%

22)

Question Stimulus :-

Who has been reappointed as the Chairman, Managing Director(MD)and Chief Executive Officer(CEO)
of Hero MotoCorp? / €R1 HieI®Td & 3reaes 3N uad fFexre (v 1) iR g1 srdart siitert (3
3t 3 & ¥u A fpae yafiga foear mar 82

® Hrishikesh Sulabh / & ay

® Veer Narayan Singh | 4R AR g
® Amar Talwar / 3HR dedIR

® Pawan Munjal / 9a H§&id

Correct Answer :-Pawan Munjal / Yaq §od

23)
Question Stimulus :-

Who gave the title of “Mahatma” to Gandhi? / el Y "HeTHI" &1 Iurfer foeaa 'cﬁ?
® Swami Vivekananda / W'I'lﬂ ﬁﬂw
® Bal Gangadhar Tilak / 9T TRMTER IGED
* Bhagat Singh / ¥7Td Rig

e Rabindranath Tagore / Iq&TY TR



Correct Answer :-Rabindranath Tagore / TA-&ATY SR

24)
Question Stimulus :-

Mother Teresa is an awardee of _ /HdqX %W_ﬁ YR d 22
® Only Noble Prize / T9d QREHR
® Only Bharat Ratna / Fad HRd Id
® Both the Noble Prize & Bharat Ratna / 19 d YR¥IPIR 3R YA 3@ g1 J
® None of these / Gtrgha ﬁ'ﬁ q'(ﬁ’

Correct Answer :-Both the Noble Prize & Bharat Ratna / FIael RETIR 3R HRd Id ﬁ'\ﬁ

25)
Question Stimulus :-

Who was the winner of The Man Booker International Prize 2013? / 8+ gh le_vl?'l'@'q YR¥IPIY 2013 & faorar
B A2

® Ismail Kadare/ SYHIS ﬁ%
® Chinua Achebe/ ﬁlﬁaﬂ 3
® Lydia Davis / SifSaT Sfa™
e Philip Roth / foFfe@ Iy

Correct Answer :-Lydia Davis / @fsar Sfaq

26)
Question Stimulus :-

Who was the first Speaker of the Indian Lok Sabha? / HRAH ?hﬁ’_\q‘l-ﬂ » UYH AU ﬁq )
® Ganesh Vasudev Mavalankar / ORI Ena%a HTA P
® PA Sangma / Tﬂ'({ T

® Manohar Joshi / 'FFﬁB? Fﬁ'ﬂﬁ
® Meira Kumar / §IRT PHAR



Correct Answer :-Ganesh Vasudev Mavalankar / T0IRI aT{¢d ATd@®HR

27)
Question Stimulus :-

Wheeler Island off the coast of Orissa was renamed after which famous scientist? / g 'Flﬁ:l&' %srrﬁm & 9T

W S & de¢ W Frer g1 o1 719 ufafaa fear wr?
* Dr. A.P.J. Abdul Kalam / 8T .01 S 3[gdl HaTH
e Vikram Sarabhai / faspH W"-ﬂ’g
 Homi Bhaba / BTHT UTHT
® Tessy Thomas /é'\‘:ﬂ AT

Correct Answer :-Dr. A.P.J. Abdul Kalam / ST T.W.9 3fsgal ®ard

28)
Question Stimulus :-

How many continents are there in the world? / IIR A foraq 1:r5'|ﬂ1:r %.?

® 6

Correct Answer :-7

29)
Question Stimulus :-

Which is the hottest planet in solar system? / TR ded o1 o TH P Cac k| %?
® Mercury / 9Y

® Venus / P

e Earth / Qdt
e Jupiter / ggufd



Correct Answer :-Venus / &

30)
Question Stimulus :-

What is the voting age in India? / HIRd H HagM 31 39 |1 %?
® 21 years /aﬁ
® 22 years /aﬁ
® 18 years /atf
® 1 years /atf
Correct Answer :-18 years / a9
31)

Question Stimulus :-

The Election Commission of India is situated at____ . / HIRd &I frrate= s ¥ R %I
® Mumbai / 'ﬂa_&;
® New Delhi / 7§ faeeht
® Chennai / %‘;F.%
® Kolkata / PIAPTAT

Correct Answer :-New Delhi / 7S faeeit

32)
Question Stimulus :-

The first Indian state to take public private partnership projects for redevelopment of slums in urban area under

the recently launched PMAY is / Wﬁ HRAH I ﬁmﬁ HG) 'Eﬁ ﬁ'ﬂ'ﬁ\_ﬂﬁﬁ? Afeid ﬂ'@mﬁ, aﬁ?
gHaBT i SR et & & 3l PMAY ST &1 8-

® Goa/ Al
® Karnataka/ m

® Rajasthan/ YTSTRITA

® Gujarat/ J[oIRTd



Correct Answer :-Gujarat/ ToRTd

33)
Question Stimulus :-

Who is the Chairman of SEBI? / ¥l (WRdg afayfa 3R fafrrg 918) & e H9 82
® Nishant Rathi/ fF=1id 331
® Upendra Kumar Sinha/ B’ﬁi’ PHR ﬁI?T
 Arun P. Sathe/ 3307 U 9TS
® Rajeev Kumar Agarwal/ NI PHAR AUdrd
Correct Answer :-Upendra Kumar Sinha/ 3Ug puR R

34)
Question Stimulus :-

When was Quit India movement started?/ HIRd @?ﬁ JTIa HF AR BT UT?
o 8™ August 1942 / 8 3T 1942
o 8™ August 1943 / 8 3T 1943
o 4™ August 1942 / 4 SATHT 1942
o 3™ August 1942 / 3 3R 1942
Correct Answer :-8™ August 1942 / 8 3R 1942

35)
Question Stimulus :-

Who started the “Bhoodan Movement”?/ “¥aI STgra-T« foram TR o 12
® Chakravarti Rajagopalachari/ THAd] TSI
 Murlidhar Devidas Amte/ YO tR Sfaere 3mae
® Acharya Vinoba Bhave/ 3y fa=rar wra
® Sarvepalli Radhakrishnan/ Tdueei TUTH T

Correct Answer :-Acharya Vinoba Bhave/ 3TaTd fa=iaT yTd



36)
Question Stimulus :-

In which country was Gautama Buddha born? / f&d 31 ¥ Tiqy &K PT S gfl?
® India / HIRd
® SriLanka / RG]
® Nepal / AuTd
® Bangladesh /m %QT
Correct Answer :-Nepal / AUTd
37)

Question Stimulus :-

Which among the following train travel the longest distance in India? / o d @ 919 9 YA YT I9) s
3R TF AT B?

® Kanyakumari Vivek Express/ ?b—-q@mﬂ fad® Eﬂ'\‘lﬁﬂ
® Bhubaneswar-Junagarh Express/ 'ﬁﬁﬁ"ﬂ = S[[{Te TR
® Black Diamond Express/ =P 31%113 Qﬂ'\‘lﬁﬂ
® Rajdhani Express/ NGB Wﬂq
Correct Answer :-Kanyakumari Vivek Express/ WI@TI'I'\& fqa® Taaug

38)

Question Stimulus :-

Who is the newly appointed Prime Minister of Nepal? /ﬁ'CI'IF[ 9 ﬁ'ﬁﬂﬁ YYTHAT B %?
® Shakti Basnet / e 99d
® Khadga Prasad Oli / ST YdTq et
® Pushpa Kamal Dahal / YWT ¢HJ q&d
® Kamal Thapa / PHT YTl

Correct Answer :-Pushpa Kamal Dahal / Y®IT Hd g8l

39)



Question Stimulus :-

Whose signhature appears on Indian currency notes other than the 1Re note? / 1 ¥4U & I & ATdT HIRd Bt

TP P el R FraeT gwar sifdd grar 82
® Finance Minister / fa=t w3t
® President of India / HIRd & Tl'ngﬁl'
® Finance Head of Central Government / $% IR®R & o 1A
® Governor of RBI / HRdg f¥wd 8§ & TaR
Correct Answer :-Governor of RBI / HRdII Rerd 8@ & Ta+iv
40)

Question Stimulus :-

Which Sufi invented the tabla and is considered father of Hindustani music? / fo5s '\‘I'J”ﬁ A '%g@ﬂ:ﬁ afa &
fore aad &1 SnfaseR forar?

* Amir Khusro/ 3R Q’\‘Iﬁ
® Zaakir Hussein / ST an
® A R Rehman / €,3[R YgHTH
® Hazarath Ali / 8%IRd 3reit

Correct Answer :-Amir Khusro/ 3HR W

41)
Question Stimulus :-

Yakshagana is a famous dance form of this State. / &4 g9 g Cd| Th uﬁl?s{ I At %:
® Kerala/ ®Xd

® Tamil nadu / AFIEATg

® Andhra Pradesh / Gﬂm

® Karnataka / Wﬁ?ﬁ

Correct Answer :-Karnataka / $AICH

42)



Question Stimulus :-

Who was recently sworn in as the Prime Minister of Australia? / T¢I | '{ﬂ Gﬁ'\%m & YUTHHA & FUH
foram <oy <t 32

* Kevin Rudd / Hfdq &8

* Julia Gillard / SIferar fremd

® Malcom Turnbull / AehH Eﬁgﬂ
® Joseph Blair / W% AR

Correct Answer :-Malcom Turnbull / 3&HH Eﬁg?l'

43)
Question Stimulus :-

Which is the first state in India that will have a ‘Foreign Ministry’? / HIRd o ar ?ﬁ'vr T Ygdl MY % \_IIET

fqd=r Haraw gRm?
e Andhra Pradesh / 3TY lTa'-‘ZT
® Gujarat / JoIRTd

® Tamil Nadu / GfH@Tg
® Teleangana / AT

Correct Answer :-Teleangana / STG¥TT

44)
Question Stimulus :-

What is the full form of NATO? / ATEl NATO &1 faaR T 372
® National Atlantic Treaty Organization / ERIEL QEFITE? '&ﬂﬁ Gﬁﬁ‘l’l’s’;ﬁ"\"l:[
® North Atlantic Treaty Organization / arf QE?IT@E Tﬁ?ﬂ Gﬁlﬁlgﬁm

® North Antarctica Treaty Organization / arf QETﬁT:b—[ ﬁ?ﬁ \"ﬁﬁ?ﬁﬁ?ﬁ
® North Africa Treaty Organization / arf siifpeT Zﬂﬂ er‘ﬁ'—nsﬁm

Correct Answer :-North Atlantic Treaty Organization / arf EE?ITW ﬂ?ﬁ mﬁﬁ

45)



Question Stimulus :-

When is ‘World Youth Skills Day’ celebrated? / fI%a JaT PI=1el f&ad (World Youth Skills Day)’ & HTAT
STaT 872

o 15t July /15 JaTS

e 20" May/209S

o 24" October / 24 SAgER

o 22" November / 22 HdaR
Correct Answer :-15% July / 15 T
46)

Question Stimulus :-

Where is the Security Paper Mills located in Madhya Pradesh? / H& D%EZT | Uﬁﬁjﬁf DI HIRETHAT ﬁil @

??
® Hoshangabad / ﬁw
® Dewas / %am
® Gwalior/ qTferaR
® Dhar/ YR
Correct Answer :-Hoshangabad / RPICI

47)
Question Stimulus :-

Which plateau covers almost the entire part of Western Madhya Pradesh? / P 91 USTR uf3red vy TSR & T

R W o gt @2
* Malwa / HT@al
® Berar / RIR
* Shivpuri / REQH
® Morena /R

Correct Answer :-Malwa / HTddl

48)



Question Stimulus :-

The only Eco tourism site in Bhopal is / Uiyt & A TRuded I« ?
* Kolar dam / PR TiY
® Rajghat dam / ITSTHTE S1Y
* Kerwa dam / $Rdl §i¢Y
® Halahi dam / B?I'Iﬁ Y
Correct Answer :-Kerwa dam / B4l §i¢Y
49)

Question Stimulus :-

Dudhsagar, Hundru and Chitrakoot are names of / QUEIR, 5% Td ﬁﬁlﬁ & 99

gl

® Waterfalls / STAYUTd

® Mountains /qﬁﬂ

® Deserts / HORIA

® Glaciers / TR
Correct Answer :-Waterfalls / STCTHUTd
50)

Question Stimulus :-

One of the finest Teak forest of the state of Madhya Pradesh is found in/ H& u%&r% W%ﬁ?ﬂ'\ﬂq Wﬁ:l DT
ST ® U et gl

® Satpura Sanctuary/ HdYST AHIRTY

® Ratapani Tiger reserve/ TATUT §TH S HARTY
® Sanjay Sanctuary/ Hold JHIRTY

® Kanha Sanctuary/ BIgl HIARTY

Correct Answer :-Ratapani Tiger reserve/ TATUT §TH AHIARTY

51)



Question Stimulus :-

720 families live in an apartment. Out of that 120 familes are from North India, 360 are
from South and 240 from West Bengal and the information has to be represented in a Pie
Chart, find the angle to be marked at the centre to represent North Indian Families? /

720 URAR TH 3UHe & @ &, o ¥ 120 URGR IW HRA 9 8, 360 &févr & ¢ ok 240 ufd¥ sma
mﬁmaﬁuﬁaﬁwm%,wma%uﬁmﬁaﬁaﬁ%mhwwmaﬁmw
e 120°
e 60
e 33.33°
o 240"
Correct Answer :-60"
52)
Question Stimulus :-

A polyhedron has 7 faces and 10 vertices. How many vertices does it have? / T dgbcich & 7 AP % 3R 10
Pivfag &1 TP Hruifeg fra- §2
° 17
® 15
* 12
°* 19
Correct Answer :-15
53)
Question Stimulus :-

If the adjacent angles of a rhombus are equal, the measure of each angle will be: / gfe Wgﬁf F UIRER

DI RIS 8, d TP B0 BT AT gRM:
e 60
o 990
* 450

o g0



Correct Answer :-90°

54)
Question Stimulus :-

Reliance Ltd opened at 365 points. It fell by 56 points as the day progressed and gained
92 points when the day closed. The value of its share at close was ./
Rariw ffies 365 Wige R el S 9 @7 3mt e, 7% 56 WiEe A1 3R o7 P T9IE o 9@ 92
WEe U f6d | IRl IR 39S AR BT HE AT

e + 329
* 329
* 401
* +401

Correct Answer :-+ 401

55)
Question Stimulus :-

If the sum of three consecutive odd numbers is 63, which is the first of the three consecutive odd numbers? /

&9 wATTa faww demeit &1 9h1 63 #, @9 wanTa fauw d@nsi d § wyw o I 82
* 21
® 23
®* 19
® 25
Correct Answer :-19

56)
Question Stimulus :-

Ansy scored 87,86,92 and 95marks in four subjects. What §hou|d be he!- I.east score in the
fifth subject if she has to get a mean score of 90 in all? / Q‘\‘ﬂﬁ IR fawal & 87,86,92 3R 95
3 ¥R [HA| uFd fawy § ITST YAau ¥R 1 1 91T Ife I/ Fo 90 FT UTH IHR a1 82

® 95

* 389



® 93

® 90
Correct Answer :-90
57)

Question Stimulus :-

The difference between the highest and lowest values in a given data is called

its / RA M s1eT ¥ I=ad iR <gHAqH AH & §9 $T 3R
ITPT Heard g

® Data / SIcl

° Range/qﬁ'\‘ﬂ

® Frequency / SRRl

® Array/ TRl
Correct Answer :-Range / UREY
58)

Question Stimulus :-

How many tiles will be required for the flooring of a hall of 35ft X 20ft, if the tiles are of size2.5ft x2ft? / 35 P<C

xzo%gﬁ%ﬁﬁ$wﬁwﬁaﬁ$ﬁlﬁm=ﬁzmﬁaﬁwﬁ1ﬁ,mmmmz.sgrdx2
Pee?

* 140

* 1400

® 14000

* 14
Correct Answer :-140
59)

Question Stimulus :-

Each side of a rhombus is25cm. If the distance between the two parallel sides is 12cm find its area? / Tdh

TGS Pt TdP Y1 25 et B1 TS & gHieaR yermsit & i Y gt 128 @ @) ST duwa w



150cm?

1500cm?

600cm?

300cm?

Correct Answer :- 300cm?

60)
Question Stimulus :-

Gathiman express covers a distance of 200 km from Delhi to Agra in 90 minutes.at an
average speed of 133km/hour. Railways plans to reduce the journey time to 75 min What
should be the increased speed in km / hr? (round figure) / TqHH TaIY el | SMMRT H1
200fFt gt 90 fiiFe ® 133 5t wfa o &Y sitaa ara & T Bt 8. Y@, AT BT A FH PP 75
e 3 FY Qo1 s §1 Fer gam A it wfa gver & foraar g wfgde

° 180
° 140
° 160
° 150

Correct Answer :-160

61)
Question Stimulus :-

The period of rotation of geo stationary satellites around the earth is / Jdt & aRI 3R YRR

SuuEl & guiv B eafy g
® 24 hours / 24 e
e 100 minutes / 100 e
® 48 hours / 48 e
® 48 minutes / 48 e
Correct Answer :-24 hours / 24 °¢

62)

Question Stimulus :-



Aluminium when exposed to the atmosphere gets oxidized to A1203.1t is a / dTTdRUT | Wﬁlﬁ'{l’q & HUh g
& A1203 FT ARG &) AT 31 A}

® Basic oxide / CIRED aﬁ'a'\q'[gg

® Acidic oxide / 3wy Gﬁ'ﬂ:ﬂﬁg

® Neutral oxide / gl Gﬁ'ﬂ'\qﬁg

® Amphoteric oxide. / Wﬁﬁﬁﬂ'\‘lﬁg

Correct Answer :-Amphoteric oxide. / Mﬂﬁﬁ-ﬁﬂ'\‘lﬁg

63)
Question Stimulus :-

When the distance between two bodies is tripled, the gravitational force between them is / SId E‘ﬁ ﬁ\?ﬁ 3! di=

®1 gt forit w7 & wreft 3, @1 S g e T

o tripled / foT 8 wITaT 3

o reducedbyafactorof3/3a?mﬁﬂf\_rl'm%

® multiplied by a factor of 9/ 9 & PRSP A IUIT I SITdT &

° reducedbyafactorof9/9a?W'\ﬁEIE'\_rl'l?lT%
Correct Answer :-reduced by a factorof 9/ 9 & PR A U< SITdl %
64)

Question Stimulus :-

Which of the following clothes will be more comfortable for us to use in winter? / ﬁl’H i ﬁ Q)SFI ﬁ W@' '{-Iﬁq-)f i
AT H g SATel SRTHGTA® gl

® White or light coloured clothes /Waﬁ{ q1 Eﬁ'? T m@

® Thick blanket / AIET Had

® Two thin blankets joined together / ThHTY \_rﬁ%' ™ 33f Udd dad
® Wet clothes / Tﬂﬁ HW@:’

Correct Answer :-Two thin blankets joined together / THITY Gﬁ% £ | 33[ Udd $ad

65)

Question Stimulus :-



The strongest interparticle forces at room temperature is in / FHY & AUHE TR GEH Holgd
PR 9 He

® Oxygen/ SfTRIST

® Water / ol

® Iron /@G

® Sulphur / TEHY
Correct Answer :-iron / @&l
66)

Question Stimulus :-

Atul cut one sheet of paper into 5 pieces and later burnt them to get some ash. The changes happening are / (& G|

TP BT DI T Bl 5 gPhsl B BIeT YT 916 § 3¢ oal HR W a1T| 39 yhhar ¥ g ufvad+
® Both chemical changes. / a-']T'ﬁ It ufvad+ %
® Both Physical changes /?,ﬁ:ﬁ ‘-ﬁﬁﬁ? tlﬁﬂ?\.:[ %
® Former a physical change and latter a chemical change / g ¢l Wifas uf¥ad= aur QO IS ufvad_
g
o ;c;gg%hemical change and latter a physical change. / Ugdl It ufvad= aur Qo Wifas

Correct Answer :-Former a physical change and latter a chemical change / Ugdl Wifae ufvad= aar qaa
IS afvad 8

67)
Question Stimulus :-

In which of the following organisms, the m-RNA does not move from the nucleus to cytoplasm? / ffad 9 fea

Sl |, TH REAT A1fY® A JTSeIwred | A6l Srdi?
e Chlamydomona / FfISHAN
® E.col /g.ﬁ?ﬁ

e Amoeba / 3HET

* Mucour / R®R

Correct Answer :-E.col /3.®dl



68)
Question Stimulus :-

The organelle which contain enzymes for intracellular digestion is / PRSI 9 Sid: PR U & ﬁl’E

TTSH T §

® Ribosome / ?133-']'&-111

® Mesosome / IS H

® Lysosome / m@'ﬂ

® Vacuole / THYUT
Correct Answer :-Lysosome /@TSHIGH
69)

Question Stimulus :-

Enzymes are mainly made of / CNITgH T =7 kil ¥ g4 g %
® Proteins / me=

® Carbohydrates /mﬁ'@ﬁ'

® Nucleic acid /m A

® Steroids /m
Correct Answer :-Proteins / HIcI
70)

Question Stimulus :-

The application of Science to solve problems related to law / ﬁ?l'Fl Cai &Iﬂmﬂ'ﬂ Ell PI{d Yafed guwne &
T BT §

® Forensic science / TATARI® fagm=
® Legal science /$|_'f'ﬁ ﬁ?ﬂq
* Pharmaceutical science / 39 fagm=

® DNA fingerprinting / :fﬂ'Q""I'E G'I'ﬂ'(ﬂﬁ’l'ﬂq
Correct Answer :-Forensic science /:QT*TIW ﬁ?l'l_"l'



71)

Question Stimulus :-

The average weight of 3 men A, B and C is 84 kg. Another man ‘D’ joins the group and this increases the average
weight by 4kg. What is the weight of ‘D’?/ 3 w A, B 3T C BT 3NTd aoi 84 fpam %I Wﬁww ‘D’
S BaT 8 3R 3HP BRI 3NGd aoi- | 46y & g 8 5irell 81 <D’ &1 awiA fpam 2

® 100

® 90

e 95

® 105
Correct Answer :-100
72)
Question Stimulus :-

If x-3; x-7; x+8; x-4 are in proportion, what is the value of x? /afe x-3; X-7; Xx+8; x-4

3qurd § §, x T 919 F1 gHM?
e 9.0
e 18.5
e 85

None/ﬂ'ﬁ%'l-ﬁq'bpf

Correct Answer :-8.5

73)
Question Stimulus :-

The ratio between the present ages of A and B is 5 : 3 respectively. The ratio between A’s
age 4 years ago and B’s age 4 years hence is 1 : 1. What is the ratio between A’s age 4
years hence and B’s age 4 years ago? / a0 § A 30X B @ 3Tg &T 3JUTd HHR: 5 : 3 g1 4 9
Tgd A B! 3T 3R 4 T I1¢ B P R & &9 BT U 1 : 1 A2 4 TIA 91 A $t 3G 3R 4 I Uga
B $1 3Mg &7 UTd T §HIT?



e 4:1
Correct Answer :-3:1

74)

Question Stimulus :-

2 1
A person’s present age is ° of the age of his mother. After 8 years, he will be 2of the age of

his mother. How old is the mother at present?/ du § U afdy B g Srat |f #Y oy & s
URT §1 8 I6f 9Te, IAPT g Uit AT P} g F} 2811 adar & ITSHT i B g fbait 82

® 32 years/ 32 ay
e 36 years/ 36 Y
® 40 years/ 40 ay
® 48 years/ 48 T4

Correct Answer :-40 years/ 40 4

75)
Question Stimulus :-

3/2 of 26 is / 26 T 312 §:
° 32
e 39
* 40
° 28
Correct Answer :-39

76)

Question Stimulus :-

Remainder when you divide 135 by 3 is / SId 3T 135 P 39 fauforg #a & 9 Qw:

e 0



Correct Answer :-0

77)
Question Stimulus :-

In a test, Gopal scored 98 marks out of 300 marks but fails by 22 marks. What would be the minimum percentage
of marks required to pass the test? / G& SITd #, THUTS Hel 300 3Pl A 98 3 UI BT &, A 22 3(PI 4§
fawa g wITar 81 g ¥ U 34 & fae fhaq <Aay 3id! &1 smaxaddr giit?

® 40%

® 35%

* 30%

* 36%
Correct Answer :-40%
78)
Question Stimulus :-

Fill in the missing alphabets / QW &R ‘l-lﬁ'q

ab__aabb__ab__a

® b,b,b

® a,a a

® ab,a

® b,a, b
Correct Answer :-b,a, b
79)

Question Stimulus :-

64% of 100 is / 100 DT 64% %:

° 64



®* 60
* 80
* 82

Correct Answer :-64

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the One given
below? / % IR tal & & ®19 a1 A A T4 vd F THew TuH L 22

Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

(i) Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

(ii) Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

(iii) Din & Din Ford

1000 W Wade HamptOn Blvd
Green, SC 29650

(864) 877-0711

(iv) Din & Din Ford



1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877-0711

® iii

* IV

Correct Answer :-iii

81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / g
IR Udl § A S A1 TP 911 o9 F UHSH GHH 8l 82

Sr. George Rodriguez
Calle, 21, Esqgauina K, Vedado

La Havana, CUBA

i. Sr. George Rodriguez
Calle, 21, Esquina K. Vedado

La Havana, CUBA

ii. Sr. George Rodriguez
Calle, 21, Esqgauina K, Vedado

La Havana, CUBA

iii. Sr. George Rodriguez
Calle, 21, Esquina K. Vedado

La Havana, CUBA



iv.Sr. George Rodriguez
Calle, 21, Esquina K. Vedado

La Havana, CUBA

® jv
Correct Answer :-ii
82)

Question Stimulus :-
Two trains staring from the same place run at the rate of 50 kmph and 55 kmph respectively. What time will they
take to be 85 km apart, if they run in the same direction? /Wa?‘rﬁ'\ﬁ aﬁaﬁ'ﬁ ﬁmm HHTTIAR
50 fp+t fer et wd 55 fomeft uf der o i & sl &1 wﬁ%wé’rﬁmﬁmws‘ra‘raﬁr%a‘mﬁss
ot @t gt = & fore fova=m awa @k

® 16hrs/16HC

® 18hrs/18%c

® 17hrs/17 e

® 15hrs/15 ‘EI%
Correct Answer :-17 hrs / 17 G¢
83)

Question Stimulus :-
Kamal bought a refrigerator for Rs.6000 from Bombay and brought it to Bangalore spend transportation charge
Rs.750 and over head expenses Rs.300 then he sold for Rs.6800. What is his loss? / PHT a Wﬁ T 6000 T
1 TP fipel @il iR U 750 Pt UNGET ANTA TF 300 FUF BT JHW G TR & YT 4 @R o
3mar| fipe 39+ fiFsl 3 6800 Twd & 9 fam| I fHa=r JHa= gam

® 400

® 300

® 250

® 350



Correct Answer :-250

84)
Question Stimulus :-

Find the next term in the series 6,3,12,6,24, YERCGI H 3RTAT Ug ITd Hﬂﬁﬂ;’
6,3,12,6,24,

° 12

e 18

e 30

® 48
Correct Answer :-12
85)

Question Stimulus :-

Find the next term in the series. / 4T H 37Tl g JId aﬂﬁm

11, 15,9, 17, 7, 19, ?

Correct Answer :-5

86)
Question Stimulus :-

If “PLAYERS WEAR SHOES” stands for “BIN TIN RIN”, “LADIES WEAR BANGLES” stands for “SIN CIN TIN”, “BANGLES OF
GOLD” stands for “NUN SIN TON” then which word stands for LADIES? / 'CI'% “PLAYERS WEAR SHOES” Ud1dcd B dl

T “BIN TIN RIN” 1, “LADIES WEAR BANGLES” Wciteped D dT @ “SIN CIN TIN”, “BANGLES OF GOLD” UdIhed HdT @
“NUN SIN TON” Y &I T e LADIES B! Uellhed PHaT 22

® NUN
® CIN

® SIN



® TIN
Correct Answer :-CIN
87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /= feard 1 wH H 3nTelt Gﬂ?‘h P It él‘“?




Correct Answer :-

88)
Question Stimulus :-

If 1st March 2007 is Tuesday, what will be the day on 1st November of the same year? /afe 1 HTH 2007 HTEAR

g, a1 3t adf & 1 TarER & B A1 o7 Fhm

® Tuesday / HIT@AR

® Wednesday / §YdIR

® Friday / J[PdIR

* Sunday/3faER
Correct Answer :-Tuesday / HIT@dR
89)
Question Stimulus :-
A + B means that A is the father of B / A + B@THaad 2 f% A, B & a1 &
A - B means that A is the mother of B/ A-B ®THdad g f5 A, B #t AT 8
A x B means that A is the brother of B / A x B ST Hdad ¢ fF A, B T 4TS @
A / B means that A is the sisterof B/ A/ B&TUdad 8 fb A, B P I8 &

A!B means that Aisthesonof B /A!B SIHAdad e fd A, B HTaeT 8

A $ B means that A is the daughter of B/ A $ B ST Haad & f& A, B ®1 31 @

In which of the following options will be C is the cousin of E? / g 96 | 19 A e A C E

BT TR UIE B2
e C$BSE
« C$BxD-E
e CIBI!E
e CxE



Correct Answer :-C$BxD-E

90)
Question Stimulus :-

B is the wife of A. C is the niece of B. D is B’s brother. How is D related to A? / B, A CARC
21 C, B 31 Hdlslt 81 D, B &7 HTS 21 D, A ¥ &9 Iafd 82

® Sister /dgd

® Brother-in-law / ITell

® Daughter / It

® Daughter-in-law / dg
Correct Answer :-Brother-in-law / 9Tdl
91)

Question Stimulus :-

Which of the following is the mirror image of COLLATE? / ffgda P T COLLATE BT a'd:UT yfafa %?

COI'IVLE

COLINTE

COITVLE

COLLVCE

Correct Answer :- COITVIE

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / 9 7% #, Ugd Weg T g Ueg & WY et TR A B Gy 1 TR AW Teg P71 91 e &
1Y I UPR HT HaY T IA1RY, o AT e HT:
Jupiter : Sun :: Moon : ?/%Wﬁ:ﬁtf::iri'c{: ?

® Planet / U5



® Star / dIRT

° Earth/q?ﬁ]
° Sun/'\‘]?f

Correct Answer :-garth / Q&

93)

Question Stimulus :-

In how many ways can 5 members be selected out of 10 members, so that two particular members must be
included? / 10 TG & ¥ 5 WG| ®1 99 fHa- YHR | g1 AFa1 § forad o &t fafkiy wewa srvard wu @
e o o wd

* 52

* 44

® 56

* 28
Correct Answer :-56
94)

Question Stimulus :-

Megha travels 6km towards west, then Skm towards north, and finally travels 6km towards west. How far is she

from his original place and in what direction? / YT Ui ot MR B%anaﬂ?ﬂ%, Y ST & SR
sfptll, SR ord # ufyw F 3R 6fF | T8 3 RY §g W fpanit gx @ 3k for fexm d @2

® 13 km to the north-west / IWR-ufHH 9 3R 13w
® 8 km to the north-west / IWR-UfH FY 3N sfepHt

° 11 kmtothewest/maﬂ&ﬁ'\rllﬁﬂﬂ

® 17 km to the west / ufy| &t 3R 17feH

Correct Answer :-13 km to the north-west / SUR-UfHH &1 R 13fHHt

95)
Question Stimulus :-

What is the day on 15 August 2050? / 15 3R, 2050 $I B AT fem g me



® Monday / THAR
® Tuesday / HITCAR
® Wednesday / YdIR

® Thursday / T[=dR

Correct Answer :-Monday / IHAR

96)
Question Stimulus :-
CANCELLED

Select the option, which is the logical equivalent of the statement given below: / dg o

gha &t aF ot =P F R A T Fu= & JuE §:

If stock prices rise, then bond values fall. Stock prices are rising. / ¢ YW F YT Tgd &,
a9 & Yeu Ucd 81 W & Y9 9¢ 78 &l

® One should buy stocks. / g% T P JWR Wte T'-ITI%'Q'I

® If bond values fall, then stock prices rise. /TI'% ﬁ%’ & g ued %', ar w & Y19 EE?[ %'I
® Bond values are rising. / YR & HTG de 1% %'I

® Bond values are falling. / TR & HTq °T ?% %.I

Correct Answer :-Bond values are falling. / R & U9 °UC ?% %'I

97)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe
g &t 7 ot =R F TR A T vy & JuE B

If it is cool, then it is winter. / ¢ 3% ¢, df Wl 71
® Jf is not cool, then it is not winter. /Tfl'% 3P T'Iﬁ %, ar '\‘Iﬁq'bpf %I
® If it is not cool, then it is winter. /qﬁ 38D T'|'£'ﬂ %, a Fﬁ %I
® If it is not winter, then it is not cool. /‘Tﬁ' ?I'cffﬂﬁ %, ar 8P qﬁ %I

® If it is winter, then it is cool. /afe '\qﬁ%, qN b %I



Correct Answer :-If it is not winter, then it is not cool. /afe ?’Rﬁ :lﬁ %, aq s qﬁ %I

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y+ E[ﬁl'a Tl
33 T Hy=l vd el & IR A It |

Statements: / PY:
Some dogs are bold. / $3 $o i §
All cats are bold. / Tt fafemar fAffe 1

Conclusions: / fApH:
I. Some dogs are cats. / I. $© o« faf®ml g1
II. Some cats are dogs. / II. $O fafemal 9 g1

® Only conclusion I follows / Pad fresy | Freadan %

® Only conclusion Il follows / dad ey 1 frpadar %

® FEither I or Il follows. / T ?ﬁ forspd | Tn v 1 freaar %

® Neither I nor Il follows. /T @l | Gﬁ?' -1 {"ﬁ i fereear %
Correct Answer :-Neither I nor Il follows. / T @) 1 3R 7 g 1 fFPpaar 8
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ &Y= g &Y
&3 T Tyl vd Frewwl & I | |8 §:

Statements: / ®YH:

No actor is a director. / ®Is W TR fez® 8 21
Some directors are financers. / $9 A% faxemr g1

Conclusions: / fAa:

I. No actor is a financer. / I. ﬂﬁé ‘lﬁwﬁmﬂﬁﬁl
I1I. A financer can be an actor. / II. T& ﬁ?ﬂ'ﬁn@ QRTE’IW%I



® Only conclusion | follows /W s | IBCNGI %

® Only conclusion Il follows / pad frsepy 1| freedr %
® Either | or Il follows. / T &Y 1 AT f= 1 fArwear @

® Neither I nor Il follows. / - T‘ﬁ I Gﬁ? T é’f ] ﬁlﬁ?ﬂ %

Correct Answer :-Either I or Il follows. / T Y 1 AT T3 1 fAwaar %

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y+ E[ﬁ'ef il
33 T Hy=l vd el & IR A It |

Statements: / DY:
Julie is a film. / 9ait U fbed 21
Some films are beautiful. / $© e Jar g1

Conclusions: / fase:
I. Julie is beautiful / I. S[eit Yar B
II. Julie is not beautiful / II. GEﬁﬁa?:rép[%I

® Only conclusion | follows /aﬁﬁ ﬁwﬂf | Fredar %

® Only conclusion Il follows / aﬁﬂ e 1) frpadan %
e Either | or Il follows. /T a1 1 T fB¥ 1 fApear %

® Neither I nor Il follows. / T @Y | Gﬁ? T é’] i Fereear %

Correct Answer :-Either | or li follows. / IT Y 1 AT ftbx 1l fAadr %



